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Réponses

1. 24

2. 12

3. 120

4. 100

5. 2

6. 45

7. 12

8. 19

9. 47

10. 37

11. 32

12. 19

13. 21

14. 11

Déterminez le nombre qui permet d'équilibrer chaque équation.

1) 12 + 55 =      24      + 43 2) 4 +      12      = 15 + 1

3)     120      - 28 = 4 + 41 + 47 4)     100      - 44 = 8 + 17 + 31

5) 35 - 27 =      2       + 6 6) 108 -      45      = 17 + 46

7)      12      + 48 + 48 = 48 + 60 8)      19      - 8 = 51 - 40

9) 120 - 5 =      47      + 43 + 25 10) 15 + 36 = 88 -      37     

11)      32      + 47 = 48 + 6 + 25 12) 15 + 15 + 23 =      19      + 34

13)      21      - 12 = 52 - 43 14) 13 + 44 =      11      + 46
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Déterminez le nombre qui permet d'équilibrer chaque équation.

19 45 19 2 11 24 32

21 120 100 37 47 12 12

1) 12 + 55 =      24      + 43 2) 4 +      12      = 15 + 1

3)     120      - 28 = 4 + 41 + 47 4)     100      - 44 = 8 + 17 + 31

5) 35 - 27 =      2       + 6 6) 108 -      45      = 17 + 46

7)      12      + 48 + 48 = 48 + 60 8)      19      - 8 = 51 - 40

9) 120 - 5 =      47      + 43 + 25 10) 15 + 36 = 88 -      37     

11)      32      + 47 = 48 + 6 + 25 12) 15 + 15 + 23 =      19      + 34

13)      21      - 12 = 52 - 43 14) 13 + 44 =      11      + 46

Réponses

1. 24

2. 12

3. 120

4. 100

5. 2

6. 45

7. 12

8. 19

9. 47

10. 37

11. 32

12. 19

13. 21

14. 11

1-10 93 86 79 71 64 57 50 43 36 29
11-14 21 14 7 0


	Fiche d’exercices
	Clé
	Modifié

